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A& Bife L
= 6 | E | e | = | e ||| =)= e 2] e 2w
& &1 126,006 17,992 2,334 3,941 3,015 1,495 1,901 324 456 129 323 70 139 111 392 155 248 324 810 1,445
$5E3 T | 2,505 1,682 163 448 317 165 213 56 60 11 4112 13 17 31 2 7 29 64 83
™ OH T OTH | 3,514 2,286 420 754 530 102 272 61 106 14 51 8 26 21 100 — 2 31167 237
B w 12,169 1,428 134 318 240 228 191 51 28 11 26 9 11 14 37 1 — 32 50 ¥y
® OB Ot [ 2,114 1,434 124 351 213 138 167 25 32 10 29 6 17 9 32 4 4 21 42 116
& 4 1 | 1,640 86 297 611 281 25 103 24 47 3 31 5 8 11 78 1 5 19-72 75
B ¥ | 1,457 905 100 103 166 235 209 18 27 25 4611 13 8 9 2 5 18 66 132
% B W 11,307 923 108 239 193 21 59 10 15 3 17 2 6 3 17 — — 6 26 100
%4 & W 609 337 8 22 67 178 115 5 6 6 16 2 4 4 1 — 4 21 8 34
BE B % 82 606 28 106 67 55 39 9 8 12 2 4 4 4 6 6 2 5 10 55
& b TR 506 330 73 132 8 10 44 3 6 1 121 3 4 9 1 — 4 17 20
& P TH 452 363 31 39 54 2 3 5 9 — 5— 6 1 4 — 2 2 8 16
e B 0w 580 379 45 18 44 93 4 3 4 7 51 5 2 4 50 97 9 8 18
£ £ 245 156 57 76 36 1 - 1 — — —— — 2 6 — — — — 9
B o9 # 805 541 90 131 127 2 11 7 6 — 2— — 4 23 — — 5 11 115
= ®| 601 461 B4 7773 2 10 4 10 1 =—— — — 2 — — — 15 56
% B #p 239 181 26 34 44 5 8 3 5 1 2— — 1 — — — 7 10 7
% = B 413 362 22 24 29 3 8 1 3 — 1 2 2 —~— — — — 2 7 19
— £ BEf |1.,338 1,096 82 105 106 33 69 7 16 3 88— 3 2 8 — — 7 16 85
W B & 268 228 16 24 14 1 5 2 2 1 —— — — 3 — — 2 4 10
% = I 7256 593 38 48 44 20 28 6 8 — 3 1 5 — 7 — — 3 13 54
B & B 1,176 1,012 6 82 77 23 60 8 14 3 5 2 6 1 4 — — 11 39 34
TR TR 412 317 32 13 15 13 43 2 9 9 77— 1 — 1 — — 14 30 44
4 B W 115 75 9 2 7 15 19 — 1 — 11— — — 2 — — 4 7 19
OB 902 733 96 91 97 39 72 8 26 3 43 5 3 3 — — 1 19 21
4 A& B2 I 641 510 51 8 70 19 46 3 6 3 6 1 — — 4 — — 3 21 15
Mo H O 411 188 90 6 17 43 24 2 2 2 3— 1 — 1 83120 68 3 14
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A ORH RPN KB | RORES | AR | e | s dmun| SO L
= B 100.0 69.3 15.2 5.7 1.2 0.5 0.3 0.4 0.6 1.2 5.6
= H 100.0 67.1 17.9 6.6 2.2 0.4 0.5 0.7 0.1 1.2 3.3
M OB WO 100.0 65.1 21.5 2.9 1.7 0.4 0.2 0.6 — 0.9 6.7
7 B W 100.0 65.8 14.7 10.5 2.4 0.5 0.4 0.6 0.0 1.5 3.6
7w kR w 100.0 67.8 16.6 6.5 1.2 0.5 0.3 0.4 0.2 1.0 5.5
&2 4 mW 100.0 52.7 37.3 1.5 1.5 0.2 0.3 0.7 0.1 1.1 4.6
E B W 100.0 62.2 7.1 16.1 1.2 S 1.7 0.8 0.5 0.1 1.2 9.1
% B W 100.0 70.7 18.3 1.6 0.8 0.2 0.2 0.2 — 0.5 7.7
% & MW 100.0 55.4 3.6 29.2 0.8 1.0 0.3 0.7 — 3.4 5.6
B = il 100.0 70.2 12.3 6.4 1.0 1.4 0.5 0.5 0.7 0.6 6.4
# W W 100.0 65.1 26.1 2.0 0.6 0.2 0.2 0.8 0.2 0.8 4.0
g P m 100.0 80.4 8.7 5.7 1.1 — — 0.2 — 0.4 3.5
B OB wW 100.0 65.4 3.1 16.0 0.5 1.2 0.2 0.3 8.6 1.6 3.1
2 4 pi1is 100.0 63.7 31.0 0.4 0.4 — — 0.8 —_ — 3.7
B 4 # 100.0 67.3 16.3 0.2 0.8 —_ — 0.5 — 0.6 14.3
= ®m B 100.0 76.7 12.8 0.3 0.7 0.2 — — — — 9.3
& B 100.0 75.8 14.2 2.1 1.3 0.4 — 0.4 — 2.9 2.9
=B 100.0 87.7 5.8 0.7 0.2 — 0.5 — — 0.5 4.6
—  E W 100.0 82.0 7.9 2.4 0.5 0.2 — 0.1 —_ 0.5 6.4
g @ 100.0 85.1 9.0 0.4 0.7 0.4 — — — 0.7 3.7
% % IF 100.0 81.9 6.6 2.8 0.8 — 0.1 — — 0.4 7.4
iy & #B 100.0 86.0 6.9 2.0 0.7 0.3 0.2 0.1 — 0.9 2.9
[T TT R 100.0 76.8 3.2 3.2 0.5 2.2 — — — 3.4 10.7
% " R 100.0 65.3 1.7 12.0 — — — — — 3.5 16.5
=B 100.0 81.3 10.2 4.3 0.9 0.3 0.3 0.3 —- 0.1 2.3
FIA R 100.0 79.5 13.5 3.0 0.5 0.5 0.2 — —_ 0.5 2.3
o2 B 100.0 45.7 1.5 10.5 0.5 0.5 — — 21.4 16.5 3.4
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